APPENDIX 2 - Durham County Council Tax Base 2016/17

				Bar	nd				
	Α	В	С	D	E	F	G	Н	Total
Number of Dwellings shown on the valulation list for the Authority on 06/	143,525.00	30,849.00	29,273.00	20,168.00	9,827.00	3,819.00	2,078.00	267.00	239,806.00
Discounts, Exemptions and Reliefs	(17,952.10)	(3,289.30)	(2,682.30)	(1,679.04)	(751.70)	(258.70)	(151.70)	(116.70)	(26,881.54)
Chargeable Dwellings before LCTRS	125,572.90	27,559.70	26,590.70	18,488.96	9,075.30	3,560.30	1,926.30	150.30	212,924.46
Band D Equivalents prior to LCTRS	83,673.7	21,435.3	23,636.2	18,489.0	11,092.0	5,142.7	3,210.5	300.6	166,980.0
Local Council Tax Reduction Scheme impact on tax base (Band D Equivalents)	(26,277.9)	(2,414.8)	(1,331.5)	(644.6)	(269.4)	(76.7)	(33.7)	0.0	(31,048.6)
Band D Equivalent Properties	57,395.8	19,020.5	22,304.7	17,844.4	10,822.6	5,066.0	3,176.8	300.6	135,931.4

Tax Base (98.5%) 13	3,892.4
---------------------	---------

% of Properties per Council Tax Band	58.98%	12.94%	12.49%	8.68%	4.26%	1.67%	0.90%	0.07%	100.00%
% Properties in Band A to C		84.41%							

APPENDIX 3 - Durham County Council & Parish Council Tax Base 2016/17

Council Tax purposes 2015/16	Locality	Parish Area	Dwellings on the Valuation Office List	Band D Equivalent Properties	Tax Base for Council Tax purposes 2016/17	Increase / (Decrease) in Tax Base from 2015/16
No.			No.	No.	No.	No.
		Barnard Castle	2,684.0	1,785.1	1,758.3	36.5
		Barningham	86.0	82.3	81.1	(1.1)
		Boldron	51.0	51.1	50.3	(0.7)
		Bowes	202.0	170.3	167.7	2.2
		Cockfield	794.0	398.2	392.2	14.9
		Cotherstone	295.0	274.8	270.7	13.3
		Eggleston	213.0	192.1	189.2	4.2
		Etherley	986.0	675.0	664.9	19.1
ļ		Evenwood and Barony	1,271.0	688.9	678.6	14.3
·		Forest and Frith	80.0	57.6	56.7	1.6
····		Gainford & Langton	619.0	500.2	492.7	6.8
		Hamsterley	197.0	184.5	181.7	0.9
 		Hutton Magna	48.0	48.0	47.3	(2.2)
·····		Ingleton	207.0	186.3	183.5	6.4
		Lartington	59.0	62.1	61.2	(2.3)
		Lunedale	44.0	43.0	42.4 397.0	(0.4)
ļ		Lynesack and Softley	594.0 278.0	403.0 245.2	397.0 241.5	6.3
		Marwood	278.0	176.2	173.6	35.8 0.6
		Mickleton	703.0	491.1	483.7	4.7
ļ		Middleton in Teesdale & Newbiggin in Teesdale	68.0	68.2	483.7 67.2	
		Ovington	76.0	71.8	70.7	(0.8)
		Rokerby, Brignall and Egglestone Abbey	94.0	94.6	93.2	0.7 2.2
		Romaldkirk	76.0	78.3	77.1	(1.7)
		South Bedburn Staindrop	609.0	458.0	451.1	10.0
		Startforth	419.0	351.9	346.6	(2.3)
		Streatlam & Stainton	217.0	158.3	155.9	1.5
		Unparished Areas	409.0	417.7	411.4	3.0
		Whorlton & Westwick	121.0	116.0	114.3	1.6
		Winston	211.0	204.5	201.4	0.8
		Woodland	121.0	80.3	79.1	4.0
580.7 C	Chester-le-Street	Bournmoor	935.0	591.2	582.3	1.6
139.3 C	Chester-le-Street	Edmondsley	275.0	147.8	145.6	6.3
1,027.0 C	Chester-le-Street	Great Lumley	1,656.0	1,048.8	1,033.1	6.1
431.6 C	Chester-le-Street	Kimblesworth and Plawsworth	772.0	466.9	459.9	28.3
467.2 CI	Chester-le-Street	Little Lumley	731.0	490.7	483.3	16.1
	Chester-le-Street		1,018.0	910.9	897.2	(0.8)
	Chester-le-Street		1,267.0	831.6	819.1	13.7
	Chester-le-Street		3,039.0	1,530.0	1,507.1	75.1
	Chester-le-Street		2,431.0	1,288.2	1,268.9	27.8
		Unparished Areas	9,764.0	5,608.7	5,524.6	96.7
	Chester-le-Street		1,557.0	1,050.9	1,035.1	5.6
	Chester-le-Street	σ	1,758.0	1,480.9	1,458.7	12.8
3,930.8 Cı		Bishop Auckland	7,828.0	4,089.1	4,027.8	97.0
707.9 Cı		Dene Valley	1,323.0	743.0	731.9	24.0
1,638.7 Cı		Greater Willington	3,348.0	1,703.3	1,677.8	39.1
1,589.7 Cı		Stanhope	2,412.0	1,646.5	1,621.8	32.1
452.0 Cı		Tow Law	1,017.0	480.0	472.8	20.8
6,716.3 Ci		Unparished Areas	12,874.0	7,087.0	6,980.7	264.4
549.7 Cı		West Auckland	1,237.0	585.7	576.9	27.2
285.7 Ci		Welsingham	327.0	289.8	285.5	(0.2)
950.0 Ci		Wolsingham	1,303.0 997.0	977.2 539.6	962.5 531.5	12.5
518.5 D		Bearpark	4,145.0		2,812.4	13.0 14.7
2,797.7 D		Belmont	4,145.0	2,855.2 223.7	2,812.4	14.7
		Brancepeth Brandon & Byshottles	9,030.0	4,785.4	4,713.6	105.5

APPENDIX 3 - Durham County Council & Parish Council Tax Base 2016/17

Tax Base for Council Tax purposes 2015/16	Locality	Parish Area	Number of Dwellings on the Valuation	Band D Equivalent Properties	Tax Base for Council Tax purposes 2016/17	Increase / (Decrease) in Tax Base from
2015/16			Office List		2016/17	2015/16
No.			No.	No.	No.	No.
	Durham	Cassop-cum-Quarrington Hill	2,676.0	1,472.1	1,450.0	44.4
	Durham	Coxhoe	2,021.0	1,275.4	1,256.3	40.9
	Durham	Croxdale & Hett	472.0	296.6	292.2	8.9
	Durham	Framwellgate Moor	2,535.0	1,738.1	1,712.0	65.7
	Durham	Kelloe	687.0	322.8	318.0	12.8
		Pittington	679.0	469.2 551.7	462.2 543.4	3.8
	Durham Durham	Shadforth	1,003.0 1,470.0	858.3	543.4 845.4	16.1 10.1
	Durnam	Sherburn Shincliffe	710.0	729.1	718.2	(1.9)
	Durham		12,118.0	7,444.7	7,333.0	81.3
	Durham	Unparished Areas	1,164.0	684.9	674.6	11.1
		West Rainton Witton Gilbert	1,213.0	753.4	742.1	13.9
	Easington	Castle Eden	275.0	310.7	306.0	1.2
	Easington	Dalton-le-Dale	677.0	488.0	480.7	3.4
	Easington	Easington Colliery	2,501.0	1,155.4	1,138.1	37.1
	Easington	Easington Comery Easington Village	1,020.0	702.0	691.5	8.9
	Easington	Haswell	888.0	456.6	449.8	9.1
	Easington	Hawthorn	228.0	201.3	198.3	0.5
	Easington	Horden	3,964.0	1,691.6	1,666.2	95.7
	Easington	Hutton Henry	752.0	408.2	402.1	4.8
	Easington	Monk Hesleden	2,976.0	1,441.4	1,419.8	34.6
	Easington	Murton	3,561.0	1,746.9	1,720.7	25.0
	Easington	Peterlee	9,061.0	4,310.1	4,245.4	118.4
	Easington	Seaham	9,188.0	4,543.0	4,474.9	118.4
	Easington	Seaton with Slingley	538.0	420.0	413.7	5.6
	Easington	Shotton	2,148.0	1,004.4	989.3	83.6
	Easington	South Hetton	1,340.0	686.5	676.2	6.2
	Easington	Thornley	1,214.0	608.5	599.4	31.2
	Easington	Trimdon Foundry	691.0	344.8	339.6	6.3
	Easington	Unparished Areas	55.0	58.6	57.7	1.4
	Easington	Wheatley Hill	1,428.0	629.9	620.5	26.5
	Easington	Wingate	1,852.0	998.1	983.1	13.2
	Spennymoor	Bishop Middleham	580.0	410.9	404.7	(3.9)
	Spennymoor	Bradbury	55.0	60.4	59.5	0.1
	Spennymoor	Chilton	1,932.0	956.8	942.4	61.8
576.3	Spennymoor	Cornforth	1,306.0	595.8	586.9	10.6
	Spennymoor	Eldon	206.0	89.1	87.8	7.2
	Spennymoor	Ferryhill	5,078.0	2,306.5	2,271.9	66.9
	Spennymoor	Fishburn	1,184.0	621.7	612.4	2.0
	Spennymoor	Great Aycliffe	11,919.0	6,584.9	6,486.1	164.4
	Spennymoor	Middridge	152.0	118.3	116.5	(1.2)
	Spennymoor	Mordon	111.0	115.8	114.1	1.3
	Spennymoor	Sedgefield Town Council	2,323.0	1,853.6	1,825.8	7.7
	Spennymoor	Shildon	5,073.0	2,156.7	2,124.3	123.0
	Spennymoor	Spennymoor Town Council	9,825.0	5,628.8	5,544.4	236.6
	Spennymoor	Trimdon	2,189.0	1,103.3	1,086.8	20.5
	Spennymoor	Windlestone	117.0	117.1	115.3	4.1
	Stanley	Burnhope	746.0	392.2	386.3	8.4
	Stanley	Cornsay	501.0	265.3	261.3	17.9
	Stanley	Esh	2,338.0	1,355.9	1,335.6	29.1
	Stanley	Greencroft	88.0	84.3	83.0	1.4
	Stanley	Healeyfield	718.0	513.1	505.4	7.1
	Stanley	Hedleyhope	84.0	58.4	57.5	0.6
	Stanley	Lanchester	1,975.0	1,485.7	1,463.4	35.0
	Stanley	Muggleswick	57.0	44.8	44.1	0.2
	Stanley	Satley	129.0	121.1	119.3	(1.4)

APPENDIX 3 - Durham County Council & Parish Council Tax Base 2016/17

Tax Base for Council Tax purposes 2015/16	Locality	Locality Parish Area		Band D Equivalent Properties	Tax Base for Council Tax purposes 2016/17	(Decrease) L	
No.			No.	No.	No.	No.	
7,167.2	Stanley	Stanley	15,726.0	7,509.6	7,397.0	229.8	
11,815.6	Stanley	Unparished Areas	21,006.0	12,312.3	12,127.6	312.0	
130,493.0			239,806.0	135,931.4	133,892.4	3,399.5	
24,183.4	Durham	City of Durham Charter Trust	41,111.0	25,000.2	24,625.2	441.8	

Locality	Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2016/17	Band D Council Tax 2015/16	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2015/16	Parish Element of LCTRS Grant 2016/17	Net Position After Distribution of LCTRS Grant
		No.	£	£	£	£	£
Barnard Castle	Barnard Castle Town Council	36.5	90.36	3,298.14	(11,292.00)	9,136.00	ļ
Barnard Castle	Barningham Parish Council	(1.1)	9.73	(10.70)	0.00	12.00	
Barnard Castle	Boldron Parish Council	(0.7)	6.73	(4.71)	(7.00)	13.00	1.29
Barnard Castle	Bowes Parish Council	2.2	24.27	53.39	0.00	0.00	53.39
Barnard Castle	Cockfield Parish Council	14.9	41.70	621.33	(3,408.00)	3,185.00	398.33
Barnard Castle	Cotherstone Parish Council	13.3	23.87	317.47	0.00	0.00	317.47
Barnard Castle	Eggleston Parish Council	4.2	33.26	139.69	0.00	0.00	139.69
Barnard Castle	Etherly Parish Council	19.1	31.57	602.99	(1,319.00)	818.00	101.99
Barnard Castle	Evenwood and Barony Parish Council	14.3	30.78	440.15	(1,737.00)	1,482.00	185.15
Barnard Castle	Forest and Frith Parish Council	1.6	_	0.00	(70.00)	80.00	10.00
Barnard Castle	Gainford & Langton Parish Council	6.8	75.30	512.04	(318.00)	0.00	194.04
Barnard Castle	Hamsterley Parish Council	0.9	17.70	15.93	(49.00)	38.00	4.93
Barnard Castle	Hutton Magna Parish Council	(2.2)	10.15	(22.33)	0.00	26.00	3.67
Barnard Castle	Ingleton Parish Council	6.4	24.90	159.36	(226.00)	76.00	
Barnard Castle	Lartington Parish Council	(2.3)	20.08	(46.18)	0.00	53.00	L
Barnard Castle	Lunedale Parish Council	(0.4)	4.67	(1.87)	0.00	2.00	
Barnard Castle	Lynesack and Softley Parish Council	6.3	21.93	138.16	(433.00)	337.00	42.16
Barnard Castle	Marwood Parish Council	35.8	11.83	423.51	0.00	0.00	423.51
Barnard Castle	Mickleton Parish Council	0.6	23.26	13.96	0.00	0.00	13.96
Barnard Castle	Middleton in Teesdale & Newbiggin in Teesdale Parish Council	4.7	30.04	141.19	(164.00)	26.00	3.19
Barnard Castle	Ovington Parish Council	(0.8)	21.12	(16.90)	(13.00)	34.00	4.10
Barnard Castle	Rokerby, Brignall and Egglestone Abbey Parish Council	0.7	24.32	17.02	0.00	0.00	L
Barnard Castle	Romaldkirk Parish Council	2.2	22.65	49.83	0.00	0.00	
Barnard Castle	South Bedburn Parish Council	(1.7)	9.52	(16.18)	0.00	18.00	1.82
Barnard Castle	Staindrop Parish Council	10.0	32.47	324.70	(826.00)	573.00	71.70

Locality	Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2016/17	Band D Council Tax 2015/16	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2015/16	Parish Element of LCTRS Grant 2016/17	Net Position After Distribution of LCTRS Grant
		No.	£	£	£	£	£
Barnard Castle	Startforth Parish Council	(2.3)	35.83	(82.41)	(18.00)	115.00	
Barnard Castle	Streatlam & Stainton Parish Council	1.5	30.37	45.56	(77.00)	36.00	
Barnard Castle	Whorlton & Westwick Parish Council	1.6	41.00	65.60		0.00	
Barnard Castle	Winston Parish Council	0.8	22.43	17.94	0.00	0.00	
Barnard Castle	Woodland Parish Council	4.0		66.16		59.00	
Chester-le-Street	Bournmoor Parish Council	1.6	20.66	33.06	(1,297.00)	1,445.00	
Chester-le-Street	Edmondsley Parish Council	6.3	35.64	224.53	(1,046.00)	939.00	L
Chester-le-Street	Great Lumley Parish Council	6.1	18.76	114.44	(1,990.00)	2,144.00	ļ
Chester-le-Street	Kimblesworth and Plawsworth Parish Council	28.3	21.36	604.49	(781.00)	202.00	
Chester-le-Street	Little Lumley Parish Council	16.1	15.30	246.33	(600.00)	404.00	
Chester-le-Street	North Lodge Parish Council	(0.8)	19.35	(15.48)	(623.00)	730.00	ļ
Chester-le-Street	Ouston Parish Council	13.7	27.21	372.78	(1,575.00)	1,374.00	
Chester-le-Street	Pelton Parish Council	75.1	102.44	7,693.24	(13,515.00)	6,654.00	832.24
Chester-le-Street	Sacriston Parish Council	27.8	40.82	1,134.80		5,795.00	
Chester-le-Street	Urpeth Parish Council	5.6	31.08	174.05	(1,797.00)	1,855.00	232.05
Chester-le-Street	Waldridge Parish Council	12.8	20.82	266.50	(502.00)	269.00	33.50
Crook	Bishop Auckland Town Council	97.0	38.03	3,688.91	(18,629.00)	17,075.00	2,134.91
Crook	Dene Valley Parish Council	24.0	16.71	401.04	(726.00)	371.00	46.04
Crook	Greater Willington Town Council	39.1	51.27	2,004.66	(10,139.00)	9,297.00	1,162.66
Crook	Stanhope Parish Council	32.1	25.13	806.67	(891.00)	96.00	11.67
Crook	Tow Law Town Council	20.8	71.29	1,482.83	(4,699.00)	3,676.00	459.83
Crook	West Auckland Parish Council	27.2	31.33	852.18	· · · · · · · · · · · · · · · · · · ·	4,235.00	
Crook	Witton le Wear Parish Council	(0.2)	19.60	(3.92)	(87.00)	104.00	13.08
Crook	Wolsingham Parish Council	12.5	33.54	419.25	(1,442.00)	1,169.00	146.25
Durham	Bearpark Parish Council	13.0	25.05	325.65	(1,806.00)	1,692.00	211.65

Locality	Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2016/17	Band D Council Tax 2015/16	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2015/16	Parish Element of LCTRS Grant 2016/17	Net Position After Distribution of LCTRS Grant
		No.	£	£	£	£	£
Durham	Belmont Parish Council	14.7	ļ	379.70		3,895.00	
Durham	Brancepeth Parish Council	1.1	1	72.69	0.00	0.00	
Durham	Brandon & Byshottles Parish Council	105.5	32.50	3,428.75	(17,370.00)	15,934.00	
Durham	Cassop-cum-Quarrington Hill Parish Council	44.4	4	1,067.82	(2,038.00)	1,109.00	
Durham	Coxhoe Parish Council	40.9	ļ	2,580.38		362.00	45.38
Durham	Croxdale & Hett Parish Council	8.9	33.28	296.19	(1,192.00)	1,024.00	128.19
Durham	Framwellgate Moor Parish Council	65.7	24.98	1,641.19	(784.00)	0.00	L
Durham	Kelloe Parish Council	12.8	30.21	386.69	(2,055.00)	1,907.00	238.69
Durham	Pittington Parish Council	3.8	50.17	190.65	(815.00)	714.00	89.65
Durham	Shadforth Parish Council	16.1	22.82	367.40	(1,968.00)	1,829.00	228.40
Durham	Sherburn Village Parish Council	10.1	24.54	247.85	(2,981.00)	3,124.00	390.85
Durham	Shincliffe Parish Council	(1.9)	21.25	(40.37)	0.00	46.00	5.63
Durham	West Rainton Parish Council	11.1	37.92	420.91	(3,030.00)	2,982.00	372.91
Durham	Witton Gilbert Parish Council	13.9	37.77	525.00	(1,994.00)	1,679.00	210.00
Easington	Castle Eden Parish Council	1.2	29.53	35.44	(47.00)	13.00	1.44
Easington	Dalton-le-Dale Parish Council	3.4	27.59	93.81	(754.00)	755.00	94.81
Easington	Easington Colliery Parish Council	37.1	261.49	9,701.28	(52,334.00)	48,726.00	6,093.28
Easington	Easington Village Parish Council	8.9	168.10	1,496.09	(5,741.00)	4,852.00	607.09
Easington	Haswell Parish Council	9.1	155.21	1,412.41	(11,463.00)	11,487.00	1,436.41
Easington	Hawthorn Parish Council	0.5	34.50	17.25	(239.00)	253.00	31.25
Easington	Horden Parish Council	95.7	242.71	23,227.35	(100,014.00)	87,761.00	10,974.35
Easington	Hutton Henry Parish Council	4.8	ļ	483.26	(6,050.00)	6,362.00	
Easington	Monk Hesleden Parish Council	34.6	173.21	5,993.07	(36,673.00)	35,065.00	4,385.07
Easington	Murton Parish Council	25.0	164.53	4,113.25	(42,148.00)	43,471.00	5,436.25
Easington	Peterlee Town Council	118.4	297.88	35,268.99	(288,305.00)	289,198.00	36,161.99

Locality	Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2016/17	Band D Council Tax 2015/16	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2015/16	Parish Element of LCTRS Grant 2016/17	Net Position After Distribution of LCTRS Grant
		No.	£	£	£	£	£
Easington	Seaham Town Council	118.1	223.33	26,375.27	(174,025.00)	168,751.00	
Easington	Seaton with Slingley Parish Council	5.6		160.94	(398.00)	271.00	
Easington	Shotton Parish Council	83.6		8,518.84	(18,942.00)	11,913.00	
Easington	South Hetton Parish Council	6.2		828.57	(13,262.00)	14,210.00	ļ
Easington	Thornley Parish Council	31.2		7,313.90		13,465.00	
Easington	Trimdon Foundry Parish Council	6.3	172.43	1,086.31	(11,034.00)	11,369.00	1,421.31
Easington	Wheatley Hill Parish Council	26.5	165.01	4,372.77	(29,299.00)	28,489.00	3,562.77
Easington	Wingate Parish Council	13.2	133.86	1,766.95	(18,710.00)	19,364.00	L
Spennymoor	Bishop Middleham Parish Council	(3.9)	117.28	(457.39)	(2,372.00)	3,234.00	404.61
Spennymoor	Bradbury and The Isles Parish Council	0.1	23.31	2.33	0.00	0.00	2.33
Spennymoor	Chilton Town Council	61.8	196.82	12,163.48	(28,680.00)	18,877.00	2,360.48
Spennymoor	Cornforth Parish Council	10.6	140.99	1,494.49	(18,650.00)	19,607.00	2,451.49
Spennymoor	Eldon Parish Council	7.2	115.56	832.03	(2,806.00)	2,256.00	282.03
Spennymoor	Ferryhill Town Council	66.9	212.97	14,247.69	(121,170.00)	122,203.00	15,280.69
Spennymoor	Fishburn Parish Council	2.0	111.94	223.88	(10,307.00)	11,524.00	1,440.88
Spennymoor	Great Aycliffe Town Council	164.4	213.32	35,069.81	(228,899.00)	221,530.00	27,700.81
Spennymoor	Middridge Parish Council	(1.2)	53.70	(64.44)	(321.00)	441.00	55.56
Spennymoor	Mordon Parish Council	1.3	13.27	17.25	(17.00)	0.00	0.25
Spennymoor	Sedgefield Town Council	7.7	129.85	999.85	(12,269.00)	12,880.00	1,610.85
Spennymoor	Shildon Town Council	123.0	250.16	30,769.68	(145,005.00)	130,561.00	16,325.68
Spennymoor	Spennymoor Town Council	236.6	208.33	49,290.88	(111,660.00)	71,283.00	8,913.88
Spennymoor	Trimdon Parish Council	20.5	139.59	2,861.60	(21,256.00)	21,023.00	2,628.60
Spennymoor	Windlestone Parish Council	4.1	23.38	95.86	0.00	0.00	95.86
Stanley	Burnhope Parish Council	8.4	13.50	113.40	(801.00)	786.00	98.40
Stanley	Cornsay Parish Council	17.9	52.15	933.49	(2,177.00)	1,421.00	177.49

Locality	Parish Area	Increase / (Decrease) in Council Tax Base Band D Equivalent in 2016/17	Band D Council Tax 2015/16	Increase / (Loss) of Tax Raising Capacity	Parish Element of LCTRS Grant 2015/16	Parish Element of LCTRS Grant 2016/17	Net Position After Distribution of LCTRS Grant
		No.	£	£	£	£	£
Stanley	Esh Parish Council	29.1	58.35	1,697.98	(6,969.00)	6,024.00	752.98
Stanley	Greencroft Parish Council	1.4	38.48	53.87	(68.00)	16.00	1.87
Stanley	Healeyfield Parish Council	7.1	17.24	122.40	(437.00)	360.00	45.40
Stanley	Hedleyhope Parish Council	0.6	68.33	41.00	(26.00)	0.00	15.00
Stanley	Lanchester Parish Council	35.0	37.23	1,303.05	(2,495.00)	1,362.00	170.05
Stanley	Muggleswick Parish Council	0.2	27.33	5.47	(30.00)	28.00	3.47
Stanley	Satley Parish Council	(1.4)	27.26	(38.16)	0.00	44.00	5.84
Stanley	Stanley Town Council	229.8	88.12	20,249.98	(135,095.00)	131,258.00	16,412.98
		2,640.7		343,948.93	(1,813,938.00)	1,682,743.00	212,753.93
Durham	City of Durham Charter Trust	441.8	1.90	839.42	(8,064.00)	8,257.00	1,032.42

3,082.50	344,788.35 (1,822,002.00)	1 691 000 00	212 786 35
3,002.30	344,700.33 (1,022,002.00)	1,091,000.00	213,760.33